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MCO01l1-a3la ETZ-13 rhyolite
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MI84-a30a IXT-50 rhyolite
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MCO01-a43b HOS-3 rhyolite
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MCO06-rla XAL-32 rhyolite

0.05
0.04
é 0.03
$o.02
001

—
0.0
0.008
0.006
60.004'_\—
0.002
0.000
9
8
<7
=6
Es5
Sa
<3
2 Total gas age = 4.88 +0.02 Ma
1 Reduced integrated age = 4.97 +0.02 Ma
0
00 01 02 03 04 05 06 07 08 09 10
Fraction of *’Ar Released
MCO01-a32a XAL-30 rhyolite
o
Soos
0.02
0.0
0.004
§0.003
0 0.002
oo =
36
32
< 28
= 24
£ 20
o 16
12
8
4 Total gas age = 32.35 +0.05 Ma
0
00 01 02 03 04 05 06 07 08 09 10
Fraction of *°Ar Released
0 MCO01 a44b COMP-33 plagioclase
¥0.16
Sou
0.04
0.0
0.05
§0.04
00.02
0.01
0.00
63
0 I
< %0
=42
€35
o 28
21
14 Total gas age = 46.90 +0.13 Ma
7
0
00 01 02 03 04 05 06 07 08 09 10

Fraction of *°Ar Released

MCO01-a25 ETZ15 plagioclase

— All points

All points t = 27.72 +0.06 Ma
“OAr/*Ar = 265.2 £12.7
n=5, MSWD = 6.30

0.0000

0.0 0.010.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1

0.1
0.08
X0.06
So.oa
0.02

0.0
0.004
¥ 0.003
©0.002
0.001
0.000

36

32
o 28
=24
£ 20

12

o b~ ®

0.0010

0.0005

0.0000

39Ar/4°Ar

MCO01-a32b XAL-30 rhyolite

Yy

Total gas age = 32.17 +0.06 Ma

0 01 02 03 04 05 06 07 08 09 10

Fraction of *°Ar Released

MI89 c22a COMP-38 plagioclase

— All points
All points t = 54.62 +0.85 Ma

O Ar, = 298.6 +£1.60
n=3, MSWD = 2.10

0.0 0.010.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1

BarAr



MCO06-r1la ETZ-30 Rhyolite
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MCO01-e2a Mas-16D basalt

ig 0.0035 -
élz — All points
O8h—ey , . I
‘ 0.0030 1
ég:gg 4AOII pgiﬁnts t=66.9 +0.3 Ma
Soozp ] 0.0025 Ar/°Ar, = 302.43 +£3.47
0.00 . n =13, MSWD = 6.48
90 £ 0.0020
80 Q
0 =
7 <
(15} A
<o J @ 0.0015
€ 5o
2 40 0.0010
30
20 Total gas age = 67.3 +-0.3 Ma 0.0005 {
10
0 0.0000
00 01 02 03 04 05 06 07 08 09 1.0 0.0 0.010.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
. 39
Fraction of " Ar Released 39Ar/4°Ar

MI89 e6a MAS-4D andesite

gi 0.0035
“r ints
205
gol 0.0030
0.004
X 0.
S 00025
0.001 .

0.0010

All pointst=77.4 +£1.8 Ma
“Ar/*®Ar; = 213.83 +£0.00

20 Total gas age = 67.6 +0.2 Ma 0.0005 n =13, MSWD = 15.65
10
0 0.0000
00 01 02 03 04 05 06 07 08 09 1.0 0.0 0.02 0.04 0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
Fraction of *°Ar Released SarAr

MI89 ela MAS-7D basalt

20 0.0040
%ig — All points
S 0.0035 ]
0
0.008
Sovee 0.0030
0.002 | e
0.000 ——m
0.0025
90 L
<
80 =
— 0.0020
g 70 (.o<
= 60 “ 0.0015
=50
) . _
<c(n 40 0.0010 } + 4AOII p(a)(lints t=68.7 3.5 Mal
30 Ar/*°Ar; = 243.93 +0.00
20 Total gas age = 68.6 +£0.2 Ma 0.0005 n =13, MSWD = 145.1
10 ’
0 0.0000
00 01 02 03 04 05 06 07 08 09 1.0 00 005 01 015 0.2 025 03 035 0.4

Fraction of *°Ar Released SarAr
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